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Name: _ e Unit 3 Test: Linear Relationships

Knowledge/Understanding: #1-3 and multiple choice #1-12

Application: #4 ¥ 60
TIPS: #7
Communication: all short/long answer [ 3
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1. Graph each line using the slope and y-intercept. Label your lines on the graph appropriately. [6 marks]
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2. Find the equation for each line described beﬁg You may choose to‘fomplete rough work but only {
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your final answer will be marked in this question. [5 marks]

Description Equation

Y= +5
Line with a slope of{%|and a y-intercept o!@

hetnysilal ="}
—
Line paralle] to the{x-axisigoing thrcf:%(;; the point (S,Eﬂ y /
M =0 a

Mope = 35 Y | Y:-S/Q,X+| v

2
Line perpendicular to the line y = —x — 3 and having a y-intercept of 1.
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Line that is parallel to y =|—k + 5 and has the same y-intercept asy = 2x —
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A line that is vertical and goes through the point (2} -3). X ’Q //_\
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3. Alineis described in each scenario below. Determine the equation of the line that fits each description.
[20 marks]

a} The line has a slope of@and goes through the point (1
5:-3()rh ) L
-5=-3%

_Z:b

b) The line goes through the pointsl(z, 3) and

_Eﬁ :"'VZ ’X*b
M=252 Z: Yo (2)+h

Mg 3
M :-\/Z W= \O

’)‘L'YI

fo,1y

=ik 2,0)

i — 4 and has an x-intercept of 8.

c) The line is perpendicular to the line given by the equationy = R

‘M:S - ‘3/)( +2\4

0=-3(@)b
D=-24%
M=b
d) The line is paralle! to the line 3x — 4y = 12 and has the same y-intercept as the line x—2y-12=0
3/’ &, ; ¥ 7
Ve =2 e
hz-b =3 y2 1o/

y:%'x—(a

e) The line has the table of values shown bhelow
< -18-(-b) y=—hatb y:_%ﬂgo
X y g _b?b]@)tb
192 -168 _— ;\:_L’_ '{ b= "?)b 4"9
16 | -34 _ ,:\’ R
20 | -50 "=
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4. Information about the linear relationship between the tofal ¢ost to rent an apartment while on holiday
and the number of nights it is rented is given for ftwo companies.
e e Ss——

[10 marks]

Holiday Apartments - Vacation Apartments {

$360 for 3 nights | Number Cost
‘ or 7 of nights %)
$720 for 6 nights 3 $390 )
—er—" 5 $560
7 $710
6
_ 36D a) Find an equatlon that relates to cost of Holiday Apartments, C, to the number of nights, n.

T 720~ _::('JO y= 120aNg
\20 '

W m= 290 310 L
S S
50

b) Find an equation that relates to cost of Vacation Apartments, C, to the number of pi

S50 5507-390 -20

340 m=22=ts y=elnid :

L 160 - 30-R(KE)b C=80n+1>
e %9 (=140+b

e gQ ’ \50=b

c) Is Hollday Apartments a direct or partial variation? Explain. :
~ waricliory « Sha 1 [ecw

%&{&f &;mﬁwzé b G
iy m/?r(' cosd (b) /Wi/ﬁ %ﬂ Cé"&ll M alt

d) Use your equations to determine the cost of staying 12 nights at each vacation apartment. Show

. lf? your work.
ai e 6 . A, VA,
= C=[20n C=20n450

Wo  ¢=12002) 23002150
:_t__‘_'.’_'- C= U40 C=6”')0 "\BO Page 3 of 4
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5. Water in a swimming pool is draining at a constant rate. The water depth at certain times is shown in
the graph below. [7 marks]

Depth vs. Time
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a) Find the rate of change in this situation (include umts)

b) Find an equation for the relationship shown on the graph.

b300  D230£300
020
c) - When willthe pool have a depth of 0 cr? \/

DRl il b gt 0
I

0=20%+200 )
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